DAC60508M POR PROBLEM 

Scope picture during power up:
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Design baseline:
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§ Texas Instruments
Hi,
Thanks for writing to us.

DAC60508M and DAC60501M both devices will reset to mid scale after a POR event or power cycle.
It will be always function of Reference voltage in this case 2.5V, so output will be 1.25V.

Since these devices dont have Non volatile memory (NVM), whatever register content you programmed will be lost after

aPOR event or power cycle. So, yes output will be 1.25V.
Hope this clarifies your query.
Regards,

AK





